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2009[F E - g% [ = BE
h26_10km |4~68 7~9A8 4~68 7~9A8 4~6 8 7~9A8 4~68 7~9A8 4~68 7~9A8 4~68 7~9A8 4~68 7~9A8 4~6 8 7~9A8 o o N
cal/obs B B =" ;3 2 R " % 2 R =" ;3 J=3 R " 7 B |osatmmad @K
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ALD 0.6 0.7 09 0.7 03 03 05 03 04 07 07 09 02 0.1 03 03 8 8 0
ACET 02 03 03 02 02 03 02 03 02 05 02 05 0.1 0.1 01 03 16 0 0
(MEK 10 04 1.6 03 1.0 14 11 05 14 18 11 1.0 03 04 06 09 4 12 0
PRD2 05 04 3.4 1.6 1.7 33 2.6 1.7 2.8 14 24 3.9 0.7 2.1 0.8 14 2 6 8
i N 6 10 6 9 12 12 11 14 9 3 8 6 14 16 12 12
0.5¢ <20 11 7 11 8 6 4 6 4 7 12 9 10 4 1 6 6
B 1 1 1 1 0 2 1 0 2 3 1 2 0 1 0 0
b, N = | A o =y o = | A
= 2-5 I EFEERERY FHEME & EME O (P 27 5 10km FH5E )
2009[F E - g% [ = BE
h27 V03 104~68 7~9A8 4~68 7~9A8 4~6 8 7~9A8 4~68 7~9A8 4~68 7~9A8 4~68 7~9A8 4~68 7~9A8 4~6 8 7~9A8 o o N
cal/obs B B =" ;3 =3 R " % =3 R =" ;3 B R " % B |osatmmad @K
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HI U 04 S TAMARAS 1 D )i & BASR O R BRI R B 2 Lbie 32 & . O3 12DV T,
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# 3-1 FEEERHMFEAER A HE O g (O5)
NGE_O3 1.40
03 £ HE 4~9F 4R 58 6A 7R 8A 9A 1.20 585 (10kem)
03 2009 FiH (10km) 0.54 0.29 0.36 0.65 0.76 0.65 0.51 1.00 = m
03 2009 #5A (10km) 0.70 0.47 0.40 0.71 0.98 0.97 0.68 0.80 =1 A (10km)
03 2009 25 (10km) 0.75 0.46 0.50 0.79 0.99 097 0.76 0.60 = —— B & (10km)
03 2009 1#&E (10km) 0.56 0.33 0.39 0.69 0.78 0.67 0.51 @ 040 — ——— 1% T (10km)
03 2009 FZE(10km) 0.59 0.32 0.40 0.65 0.88 0.74 0.52 w020 Tk
03 2009 B (10km) 0.48 0.26 0.35 0.68 0.72 0.44 043 2 o000 =
03 2009 #Z)I| (10km) 0.61 0.34 0.38 0.69 1.07 063 054 020 ¢t A 6A 78 8A S HR (10km)
03 2009 LL%!(10km) 0.83 0.85 0.53 0.69 1.15 0.85 0.91 -0.40 e 311 (10km)
#BIR TR K (10km) 0.83 0.85 053 0.79 1.15 0.97 0.91 -0.60 11154 (10km)
#RIZ T 19 (10km) 0.63 0.42 0.41 0.69 0.92 0.74 0.61 -0.80 — e R (L0km)
#BIE /N (10km) 0.48 0.26 0.35 0.65 0.72 0.44 0.43 -1.00
= = o3 (60km)
NB_O3 1.40
03 & MR 4~98 4R 58 6A 1R 8A 9A 1.20 N
03 2009 i 0.52 0.29 0.31 0.62 0.76 0.65 0.49 1.00 I
03 2009 #HK 0.70 0.47 0.39 0.71 0.98 0.97 0.68 0.80 = — R
03 2009 B E 0.75 0.46 0.50 0.79 0.99 0.97 0.76 0.60 ]
03 2009 #FE 0.55 0.32 0.35 0.68 0.77 0.66 0.50 o 040 = —_—F
03 2009 F& 0.57 0.32 0.35 0.65 0.86 0.73 0.50 o 020 R
03 2009 X 0.45 0.26 0.29 0.65 0.70 0.43 0.39 Z o000 -
03 2009 #Z)I| 0.59 0.34 0.33 0.67 1.07 0.62 0.52 -0.20 48 5A 6A 7R 8A 9A —RR
03 2009 |13 0.83 0.85 0.51 0.69 1.15 0.85 0.91 -0.40 —— R
#BIR R K (10km) 0.83 0.85 0.51 0.79 1.15 0.97 0.91 -0.60 it
#RIZ T 19 (10km) 0.62 0.41 0.38 0.68 0.91 0.74 0.59 -0.80 — e ERR T (10km)
#BIE /N (10km) 0.45 0.26 0.29 0.62 0.70 0.43 0.39 -1.00
- = o B (60km)
MPA_O3 0.40
03 £ #R 4~98 4R 58 6A 7R 8A 9A 0.30 —,
03 2009 Fi 0.03 0.03 0.03 0.12 0.01 -0.01 -0.01 :
03 2009 #Hik 0.04 0.05 0.00 0.12 0.06 0.07 -0.06 — K
03 2009 B E -0.02 0.02 -002 -0.02 -0.03 0.00 -0.06 — mE
03 2009 #FE 0.01 0.03 0.00 0.06 0.00 0.04 -0.08 P
03 2009 F& 0.06 0.05 0.06 0.17 -0.01 0.04 -0.02 < —E
03 2009 X 0.03 0.06 0.06 0.09 -0.01 0.02 -0.06 s —
03 2009 #ZI| 0.05 0.07 0.06 0.11 0.03 0.01 -0.03
03 2009 |LjF 0.11 0.17 0.09 0.13 0.11 0.10 0.06 —E=
#BIR TR K (10km) 0.11 0.17 0.09 0.17 0.11 0.10 0.06 00 =
#RIZ T 19 (10km) 0.04 0.06 0.03 0.10 0.02 0.03 -0.03
#BIE /N (10km) -0.02 0.02 -002 -0.02 -0.03 -0.01 -0.08 -0.40 e lIEY




# 32 FEEFG SR HE O i (NOy)
NGE_NO2 1.40
NO2 & #HE 4~98 48 58 68 718 8H 9A 1.20 N
NO2 2009 Zkif 0.36 0.41 0.37 040 0.31 0.30 0.35 1.00 — %
NO2 2009 #FA 0.45 0.52 0.42 049 0.50 0.40 0.38 0.80 & ep—— —— — 1Rk
NO2 2009 #E 0.50 0.50 0.48 054 0.59 0.47 0.44 0.60 & —BE
NO2 2000 030 0% 030 033 025 020 00 5 o4 ] @ — s
NO2 2009 F3 0.18 0.16 0.21 021 0.15 0.20 0.15 2, 020 g R
NO2 2009 HiX 0.23 0.25 0.25 029 0.20 0.19 0.19 & o000 -
NO2 2009 #ZJI| 027 0.28 0.26 035 0.31 0.24 0.17 -0.20 48 5A 6A 7R 8A 9A —RR
NO2 2009 [LF! 0.71 0.72 0.72 075 0.71 0.68 0.66 -0.40 —
B & K (10km) 0.71 0.72 0.72 075 0.71 0.68 0.66 -0.60 I
HBIRF 1 (10km) 0.37 0.40 0.38 042 0.38 0.34 0.33 080 — < ERE T (10km)
#RIR & /1N (10km) 0.18 0.16 0.21 021 0.15 0.19 0.15 -1.00
- = o[BI (60km)
NB_NO2 1.40
NO2 & #HE 4~98 48 58 68 718 8H 9A 1.20 N
NO2 2009 Fi -0.34 -0.41 -0.30 -0.39 -0.31 -0.29 -0.34 1.00 — %
NO2 2009 #FA -045 -0.52 -0.40 -048 -0.50 -0.40 -0.38 0.80 — K
NO2 2009 #E -050 -0.50 -0.48 -054 -0.59 -0.47 -0.44 0.60 —BE
NO2 2009 ##E -027 -0.32 -0.26 -0.31 -0.24 -0.22 -0.29 o 040 —
NO2 2009 F3 -006 -0.16 -0.03 -0.10 -0.02 0.02 -0.09 Z 020 R
NO2 2009 FiX -0.18 -0.22 -0.19 -0.28 -0.12 -0.11 -0.14 2 000 -
NO2 2009 #3)I| -025 -0.27 -0.23 -0.35 -0.29 -0.19 -0.14 020 —®=R
NO2 2009 [LF! -0.71 -0.72 -0.72 -075 -0.71 -0.68 -0.66 040 » —— =N
B & K (10km) -006 -0.16 -0.03 -0.10 -0.02 0.02 -0.09 -0.60 fite]
ERIE T 15 (10km) -0.34 -0.39 -0.32 -040 -0.35 -0.29 -0.31 -0.80 —— AT
#RIE & /1N (10km) -0.71 -0.72 -0.72 -0.75 -0.71 -0.68 -0.66 -1.00 R TS (10km)
- = o[BI (60km)
MPA_NO2 1.40
NO2 &  #HE 4~98 48 58 68 718 8H 9A 1.20 N
NO2 2009 Zkif -041 -0.43 -0.39 -049 -0.33 -0.43 -0.42 1.00 — %
NO2 2009 #FAR -037 -0.47 -0.35 -042 -0.40 -0.35 -0.25 0.80 — 1K
NO2 2009 #E -0.39 -0.37 -0.39 -045 -0.47 -0.35 -0.33 0.60 — 5
NO2 2009 #EE -0.32 -0.41 -0.34 -0.39 -0.25 -0.24 -0.31 o 040 —
NO2 2009 F3 -0.18 -0.24 -0.18 -0.18 -0.12 -0.16 -0.18 Z 020 R
NO2 2009 HiX -032 -0.40 -0.34 -031 -0.26 -0.29 -0.33 £ ooo -
NO2 2009 ZJI| -0.14 -0.23 -0.17 -0.15 -0.09 -0.12 -0.08 2 o —RR
NO2 2009 [LF! -066 -0.70 -0.72 -0.71 -0.61 -0.60 -0.59 -0.40 —
B & K (10km) -0.14 -0.23 -0.17 -0.15 -0.09 -0.12 -0.08 -0.60 fite]
HBIRF 14 (10km) -0.35 -0.41 -0.36 -0.39 -0.31 -0.32 -0.31 080 — < EE TG (10km)
#RIRE & /1N (10km) -0.66 -0.70 -0.72 -0.71 -0.61 -0.60 -0.59 -1.00 JEA
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CCHO Jmr— CCHO Jmr CCHO CGHO Jmr
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150P 150P 150P 1S0P -
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OLEl - OLEl - OLE1 OLE1 =
ETHE | ETHE = ETHE = ETHE =
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ALK2 ALK2 ALK2 ALK2 B
ALKT ALKT ALK1 Jum ALKL =
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FH-B& &M B = =5 = #HE =
PRD2 PRD2 PRD2 } PRD2 TTT0A &
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ACET n7~9A & ACET =7~9A & ACET 7 7~98 & ACET
BALD jmmmmr— BALD e BALD BALD Jor Ha~6R B
RCHO ma~6A & ROHO m4~6A & ROHO n4~6A & RCHO
CCHO jrmmmmr— CCHO o CCHO o CCHO
HCHO j HCHO HCHO HCHO =
NROG NROG NROG NROG
ARQ2 s ARQ2 . ARQ2 . ARQ2 |mmr
AROL Jmmr AROL Jome AROL T AROL Jr
150P 150P 150P 7} 150P
OLE2 OLE2 —— OLE2 OLE2 e
OLE1 o OLEL Jomm OLE1 — OLEL Jmm-
ETHE ETHE ETHE ETHE [
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YTy —— ALKE Iy ALKS
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RCHO RCHO RCHO RCHO jmmr=te
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OLE OLEL OLEL b OLEL I

ETHE ETHE ETHE = ETHE =&
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. N N —_ -~ BN SHI == o YW=
* 33 ErEREERPEEY O X —F — 2 ORBIGHEE & IEM O PRk 27 42 60km 5 E)
2009|F B - B | E) =5 HE
h27 V03 6(04~6A 7~9A8 4~6H8 7~9A8 4~6F 7~9A8 4~6H8 7~98 4~6H8 7~9A 4~6H8 7~9A8 4~6H8 7~9A8 4~6F ~9R - . -
cal/obs | B % B B & B B & % B B = B [osatnec) @R
ALK 1 0.6 0.4 05 0.6 0.8 0.5 0.6 04 0.7 0.7 0.8 0.4 0.6 0.8 0.7 1.0 4 12 0
ALK 2 02 0.2 0.1 0.2 0.3 02 02 0.1 03 03 02 0.2 0.1 0.1 0.1 02 16 0 0
ALK 3 0.6 0.4 0.6 0.7 0.8 0.6 0.6 05 0.8 05 04 05 0.3 0.3 0.6 0.7 7 9 0
ALK 4 0.6 0.3 05 0.4 0.6 04 05 03 0.7 0.5 0.7 0.4 0.2 0.3 0.6 0.6 8 8 0
ALK 5 0.7 05 0.7 05 0.9 04 0.6 03 0.9 0.7 0.9 05 0.4 05 1.0 14 6 10 0
ETHE 04 0.3 0.3 0.4 0.3 0.1 0.2 03 03 03 0.1 0.1 0.2 0.1 04 04 16 0 0
OLE1 03 0.2 0.1 0.4 0.3 02 02 02 02 02 00 0.3 0.2 0.1 0.6 04 15 1 0
[OLE2 07 0.4 0.6 08 08 06 05 09 0.6 08 0.7 0.7 0.3 0.1 11 07 4 12 0
ISOP 713 6.8 0.9 24 85 712 11 07 82 6.8 15 1.8 0.2 0.1 01 00 4 5 1
[ARO 1 02 0.1 0.2 0.3 0.4 02 02 01 03 03 03 0.2 0.1 0.1 02 02 16 0 0
[ARO 2 02 0.2 0.3 04 05 04 04 03 07 06 05 04 0.2 0.2 04 04 12 4 0
[NROG
HCHO 07 1.0 09 04 07 09 08 03 06 10 08 05 0.2 0.2 02 03 v 9 0
CCHO 05 08 07 08 05 07 05 04 04 07 04 05 0.2 0.2 03 05 10 6 0
CHO. 10 2.1 12 19 1.1 2.2 09 05 05 19 08 09 04 1.0 06 13 1 13 2
BALD 03 0.6 05 0.7 0.4 03 04 02 03 04 04 0.5 0.1 0.1 02 02 13 3 0
[ACET 0.7 0.9 1.1 1.0 09 1.0 0.9 0.8 0.6 0.9 0.9 1.0 1.1 14 13 2.8 0 15 1
MEK 0.7 0.4 1.0 05 15 1.7 1.0 04 1.1 13 0.8 0.6 0.9 1.1 13 20 2 13 1
PRD2 04 0.5 22 20 23 35 18 1.1 24 49 16 24 1.3 39 29 47 2 5 9
i/ 8 12 6 7 6 8 9 13 6 6 7 11 14 13 8 9
0.5<EH <20 9 4 11 10 10 7 9 5 10 10 11 6 4 4 9 6
i 1 2 1 1 2 3 0 0 2 2 0 1 0 1 1 3
. N N —_ -~ BN SHI == o YW=
* 34 ErERERERPEEY X —F — 2 ORBIGHEE & IEM O, PRk 27 42 10km 5 {E)
2009[EE- & [m s =3 ER
h27 V03 104~68 7~9A8 4~68 7~9A 4~6F 7~9A8 4~6H8 7~98 4~6H8 7~9A 4~6H8 7~9A8 4~6H8 7~9A8 4~6F 7~9A8 - . 5
cal/obs |R B ®” =" B = &’ B = ®” =" B B &’ k4 @i |osatmized @A
ALK 1 0.9 0.6 0.6 05 1.0 0.7 0.6 05 0.7 0.7 0.8 05 0.6 0.9 0.7 1.0 1 15 0
ALK 2 05 0.4 0.2 0.1 0.4 03 03 02 05 04 03 0.3 0.1 0.2 02 02 16 0 0
ALK 3 10 0.6 0.7 0.6 08 06 05 06 09 05 05 0.6 04 04 0.6 0.6 3 13 0
ALK4 12 0.6 0.7 04 0.7 05 05 04 09 07 08 0.7 0.3 0.3 0.6 0.6 6 10 0
ALKS 15 09 09 04 1.2 05 07 04 13 10 11 08 05 0.6 09 12 2 14 0
ETHE 06 04 03 03 03 01 02 04 03 03 01 0.2 0.2 0.2 04 04 15 1 0
OLET 05 0.2 0.1 0.2 03 01 02 02 02 01 00 0.2 0.2 0.1 05 04 15 1 0
OLE2 18 0.8 0.9 1.3 0.6 03 02 04 0.5 04 04 05 0.4 0.2 0.8 05 8 8 0
ISOP 02 0.6 0.1 1.0 6.9 9.2 1.1 0.6 6.3 52 18 1.6 05 0.2 02 0.1 5 1 4
[ARO 1 03 0.3 0.3 0.2 0.5 03 03 02 05 05 04 0.3 0.1 0.2 02 03 16 0 0
[ARO 2 03 0.3 05 0.4 0.6 04 04 04 1.0 0.8 0.7 0.7 0.4 0.4 04 0.5 10 6 0
INROG
HCHO 0.7 0.7 0.9 0.5 0.6 1.0 0.8 0.7 05 1.1 0.9 1.3 0.2 0.2 03 04 5 11 0
CCHO 0.6 0.7 08 0.7 05 08 0.6 0.6 04 08 0.6 08 0.2 0.3 04 0.6 4 12 0
CHO. 10 18 12 20 11 27 10 11 05 24 10 18 05 11 08 17 0 14 2
ALD 05 0.7 08 05 0.4 04 05 03 04 0.6 0.6 0.7 0.1 0.1 02 02 9 7 0
[ACET 08 09 11 07 09 11 09 09 06 10 09 1.0 1.0 13 12 26 0 15 1
(MEK 13 05 17 04 18 19 15 07 16 17 14 09 11 13 16 26 1 14 1
PRD2 04 0.4 25 1.3 22 3.8 19 16 2.6 57 18 30 1.3 39 24 3.9 2 5 9
i/ 6 6 6 8 5 8 8 10 7 5 6 4 11 12 8 8
0.5<EH <20 12 12 11 10 11 7 10 8 9 10 12 13 7 5 9 7
i 0 0 1 0 2 3 0 0 2 3 0 1 0 1 1 3
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43. BEERTEOHR

2001~2011 FOHFIZE W THREX KRB L /MFR & L B ERE DR
RER 41 BILOR 42 17 LT, ENEN, FERHSINTA (4~9 A), ZFfi

(FEF~KZT) BLOEIZOWTEIHELEZLDOTH D, 2B, fAREK 5% THRIE
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#F 41 BLOE 420056, HOBEAL T, 20014, 2006 435 L Y 2009 478
FHETIT W EHE SNz, £o, FHiB LOFEOHA TIX, 20014, 2005
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BTV & HE SR 2001 R3S O 2009 4F & e o 7,

® 41 REEREORK D1

JFBE SR HEERSRG | BEKE
HE5{E | HF¥E | BEEE | BREE| ASitE| AS5E

20014 - - - - - -
20024 - = = 68 _ -
20034 = 718 718 718 = -
20044 6,88 = = = - -
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20064 - - - - - -
20074 = = = - 568

20084 = 68 68 68 = 48
20094 - - - - - -
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20114 - - - - - -
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20044 EES £ £ = = m=E
20054 - - - - - -
20064F = = = = £ =
20074 - - - - - -
20084 = = = = = 5=
20094F - - - - - -
20104 = = = 2= = =
20114 = = m=E = = -
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6. NOx& & U VOC HHED LLER
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HEHED 1.2 )E TH - 72, VOCIL60km A v+ 2 B HOPEHER D72 <

42 10km A v =

20014E7 8

Bk & (mol)

200847 A

B & (mol)

2010478

Bk & (mol)

50E+07

45E+07 7
40E+07 +
35E+07 1
3.0E+07 A
25E+07
20E+07 -
15E+07 7
1.0E+07 +
50E+06 A
0.0E+00 -

50E+07
4 5E+07
40E+07

35E+07 A
30E+07 1
25E+07 A
20E+07 A
15E+07 7
1.0E+07 7
5.0E+06 A
0.0E+00 -

50E+07
4 5E+07
40E+07

35E+07 1
3.0E+07 A
25E+07 1
20E+07 -
15E+07 7
1.0E+07 +
50E+06 A
0.0E+00 -

NOx voc
= 60kmAty S a B B (BRI 8 8)
m 10kmoAy o HiH B (B RS 8 8)

NOx voc
B 60kmAy & a B B (BRI 8 8)
m 10kmAy S a B B (B R 8 8)

NOx voc
= 60kmAty S a B B (BRI 8 8)
m 10kmAy S a B B (BRI 8 8)

HEHOHEHED 0.7 (FRETH-T-,

200547 A
5.0E+07

45E+07 7

40E+07 +

35E+07 1

3.0E+07 A

25E+07 1
20E+07 -

Bk & (mol)

15E+07 7
1.0E+07 +
50E+06 A

0.0E+00 -
NOx NMHC

= 60km Ay o i B (B R hig #58)
= 10km Ay oo HEH B (B R i #58)

200947 A
5.0E+07

4 5E+07

40E+07

35E+07 A

30E+07 1

25E+07 A

20E+07 A

B & (mol)

15E+07 7
1.0E+07 7
5.0E+06 A

0.0E+00 -

NOx voc
m60kmAy S a B B (BRI 8 8)
m 10kmAy & a B B (B R 8 8)

X 6-2 60km A v =2BXN10km A v ¥ = ORIRMEEIC T 2 HEH & ik
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